ANGLICTINA - 9. TRIDA

1.

2.)

Passive voice — procviceni:

cv. 1 - do skolniho sesitu si napis Cisla 1-5. Precti si nasledujici véty a rozhodni, zdali jsou v ¢inném rodé
nebo v rodé trpném. Pak napis svoji odpovéd k ¢islam 1-5.

Cinny rod = active voice — pi§ AV Example: 0. Tom plays football every Friday. - AV
Trpny rod = passive voice — pis PV 0. Strawberries are grown in Chile. - PV

1. Bingo is played in Britain.

The bus driver was hurt.

Steven likes to play baseball.

They often read e-mails.

They are listening to their music.
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cv. 2 — prepis nasledujici véty z rodu ¢inného na rod trpny. Hlidej si ¢asy, v jakych véty jsou.
Example: 0. They grow strawberries in Chile. - Strawberries are grown in Chile.

1. Frank takes photos. -

The teacher closes the window. -

John cleaned the bathroom. -

The girls will play handball. -

My friend has bought a new car. -
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cv. 3 — prepis nasledujici véty z rodu trpného na rod ¢inny
Example: This area was flooded by the river. - The river flooded this area.
1. This book will be written by Pauline. -

2. The president was elected by the people. >
3. The club was founded by Ron and Peggy. >
4. The boy has been arrested by the police. >
5. The computer is used by Patrick. -
Ucebnice str. 66:

cv. 1B — napis si do Skolniho sesitu Cisla 1-4 a zakrouzku;j si je. Pod kazdym cislem si vynechej 5 radka.
Na tyto radky si napis Cisla 1-5. Zde uvadim priklad:
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Precti si kratké uryvky zprav a k Cislim v sesité napis spravny tvar slovesa v zavorce tak, aby bylo

v trpném rodé. Zde uvadim malou radu, v jakych ¢asech jednotlivé uryvky jsou, aby si védél/a, v jakém
tvaru slovesa budou:

Uryvek 1 — minuly prosty ¢as

Uryvek 2 — predpfitomny ¢as

Uryvek 3 — budouci ¢as s will

Uryvek 4 — pfitomny prosty ¢as



